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(7.17) Usi% %Mom mmbey  (7.57)
Unia = 4T (3)(Fm + T3)
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(145) (@) |Pv)= g, Rowr
Rowt = 1o, // (Rs + (lf@qzﬁs)rob
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Nnjin = _grz 2 (
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(704)  Neglecking body effect amd using ogns 7.60 amd 1.6

I")m = %’E
cgm \f?—(ma)(taq 4 v>X q) = £.28 ek
, . -1% _y?
S Vnim = (1650xs® v )(E Isqam +zssm) = 208x10 4,
2 {. L5 - ) Y AV
In,in = ( ‘,",:f;_ L s st xw ﬂ;; /

(7.2) (&) In,in
L,in
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Yk T Bp + T 3 ma
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(o=, = i, = )72}7:7—‘%—}‘1 * Ty
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Note - outpul suWiny (s no‘f Yymmetri ¢ /
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118 mipy ) > =~
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(722) Negiecting lody eftoct and uding eqes 7.4 4 7.05
Vo = HTE (g5 + T2
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Pz e Ja( 09«0(13«1‘1 )( ¥ yyy pb
Pa= J2 (o) B32)0) = 2.3% nt

L '\ m (‘ ég(xlb’aov‘)( )(225 2392 t 120. 735)—} 3.82 X [D 7% y

2% AT
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(7124) @ ww% wu, e omd Yo, i
, Rowy = @m, J’Z—:’Tjﬁ) = |00 e

o | = 37123,
1 21»/«.\&’» RM C 2Qem)(13. 1? % )(100n)” 7 B

(Jo) U(smg Yast (Lsul‘f o eqn .73
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r\oﬁiewun? ud,, effeex
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\/w,mﬁ T Z(W‘)[%Jﬁ‘mp‘@ 4,,% (__m&yj .

() Mi=M2 M; My
Vh,ow‘\'b = Vn,owl’a * Z(WKTX;)@'M; @MHZS) 22.
Mi
\/n .——L-—\-?L = 2 L{KT) {’_ + ES n ,!i;?(l‘l’wm:alRS) + %ngs?_]

74
N — 2 M3 MY
e Vh,‘.ui = VV\,'W\Z' + 2 (L\'KTX(EE@V% & ) Contri bute diffexential
\ noise i (b)




